
SUNNY
LOGEN SOFA

SYPR

A

B

BACK PANEL

SEAT PANEL

C RIGHT CHAIR LEG

1 AA BOLT M6 x 25mm 2

DD WASHER M6 12

EE ALLEN KEY 1

1

1

D LEFT CHAIR LEG 1

E BACK CUSHION 3

F SEAT CUSHION 3

G LUMBAR PILLOW 2

70100309

Around the back panel and 
seat panel.

LOGEN SOFA, 70100309

FF CAP M6 12

BB BOLT M6 x 40mm 8

CC BOLT M6 x 50mm 2

A

C

D

B

F

E
E

E

F

F

G
G

1



this

Attach the back panel (A) to the seat panel (B) with bolts and washers.

Attach the right chair leg (C) to the back (A) and seat (B) panel with bolts and washers.

SUNNY
LOGEN SOFA

B

C

A

SYPR

DDDD
DD

FF

FF FF

BB

AA

CC

STEP1:

STEP2:

B

A

DD

FF
BB

70100309

2



this

Attach the left chair leg (D) to the back (A) and seat (B) panel with bolts and washers, using allen key to 
tighten all the bolts.

Attach the back cushion (E), seat cushion (F) and lumbar pillow (G) to the chair, adjust the foot leveler, 
assembly complete.

SUNNY
LOGEN SOFA

SYPR

F

E
E

E

F

F

G
G

D

BC

A

B

D

A

STEP3:

STEP4:

DD

FF

CC

DD
DD

FF

FF

BB

AA

70100309

3



IMPORTANT SAFETY INSTRUCTIONS
When using furnishing, basic precautions should always be followed, including the following:
Read all instructions before using (this furnishing).
To reduce the risk of injury to persons:
1. Close supervision is necessary when this furnishing is used by, or near children, or disabled
persons, if applicable.
2. Use this furnishing only for its intended use as described in these instructions. Do not use
attachments not recommended by the manufacturer.

SUNNY
LOGEN SOFA

SYPR

70100309

4


